
www.baumer.com/motion 

Accessories

1

S
ub

je
ct

 to
 m

od
ifi

ca
tio

n 
in

 te
ch

ni
c 

an
d 

de
si

gn
. E

rr
or

s 
an

d 
om

is
si

on
s 

ex
ce

pt
ed

.
27

/9
/2

01
6

Mounting accessories

Part number

11081744 Mounting and dismounting kit for blind hollow 
shaft

Mounting and dismounting kit for blind hollow shaft

Scope of delivery

1x hexagon screw M6x20, ISO 4017 (8.8 Vzk)
1x self-locking nut M6, ISO 10511 (A2)
1x cylinder screw M6x16, ISO 4762 (A2)
1x spring washer 6, DIN 7980
1x setscrew M6x10, ISO 7436 (5.8 Vzk)
1x cylinder screw M8x45, ISO 4762 (A2)

Description

Mounting and dismounting kit for fixing the incremental 
encoder HOG 9 (HOG 9 G) version with blind hollow shaft.
For fixing the encoder to the drive shaft and for fixing the 
torque arm to the encoder. Additional for dismounting the 
encoder of the drive shaft.

Suitable for

HOG 9, HOG 9 G


